(2019) **8**, 289 312 o:10.1093/m / 010 **A.** 4 A44 + 4 o o 3 J 2018

Ensemble-based estimates of eigenvector error for empirical covariance matrices

Dane Taylor 14260, 2770, 2770, 2770, 2770, 2770, 275, 0 orr o g ' or em : iff o. 'Juan G. Restrepo<math>10000, 1

1. Introduction

Downloaded from https://academic.oup.com/imaiai/article/8/2/289/5047951 by Univ of Colorado Libraries user on 05 June 2023



E[,]+

Assumption 2.2 μ m λ o ro + λ λ_{-1} , ro 4 g μ λ g

$$r \cdot o (, , \cdot) of f r g g ,$$

fo o g g r g r m for

$$(-,, \cdot) = \frac{3^7 \left[\rho(\lambda) \right]^5}{32\pi^3} \left[\gamma_{\mu} \left(- \frac{1}{2} \right)^3 \right]^5 \right]^5 \left[\gamma_{\mu} \left(- \frac{1}{2} \right)^3 \left[\gamma_{\mu} \left(- \frac{1}{2} \right)^3 \right]^5 \left[\gamma_{\mu} \left(- \frac{1}{2} \right)^3 \right]^5 \left[\gamma_{\mu} \left(- \frac{1}{2} \right)^3 \left[\gamma_{\mu} \left(- \frac{1}{2} \right)^3 \right]^5 \left[\gamma_{\mu} \left(- \frac{1}{2} \right)^3 \left[\gamma_{\mu} \left(- \frac{1}{2} \right)^3 \right]^5 \left[\gamma_{\mu} \left(- \frac{1}{2} \right)^3 \left[\gamma_{\mu} \left(- \frac{1}{2} \right)^3 \right]^5 \left[\gamma_{\mu} \left(- \frac{1}{2} \right)^3 \left[\gamma_{\mu} \left($$

Downloaded from https://academic.oup.com/imaiai/article/8/2/289/5047951 by Univ of Colorado Libraries user on 05 June 2023

2.3 (2.2) g m o 4 m for 1

o o 4 (11 r 2017 r or 2017). fi r ork, o r g o o for gr mor 40m 4 n 41 r of 4 40m ork r rg o of ork or g 4 r for gr (1rk 2001 o 2001 g 2001 g 2003 2003 2003 2003 B 4 org & k , 2011 o o, 2013 Z g 2007, 2014 r or 2016



Y Y



Downloaded from https://academic.oup.com/imaiai/article/8/2/289/5047951 by Univ of Colorado Libraries user on 05 June 2023

Delvenne, J.-C., Yaliraki, N., Sophia, N. & Barahona, M.

Volkov, I., Banavar, J. R., Hubbell, S. P. & Maritan, A. (2009) frrg 4 r 4 o ro 4 for .

Weigt, M., White, R. A., Szurmant, H., Hoch, J. A. & Hwa, T. (2009) 4 o of r 4 r r 40 4

 ro
 ro
 r
 $4 \circ$ g. Br : r gr, . 409 440.

Zhang, X., Nadakuditi, R. R. & Newman, M. E. J. (2014) 4 r of r om gr 🔨 🔨 40mm n 4 r rrr gr. , **89**, 042816.

A. Derivation of main result 1

[♣], A. , rom (1.1) rm of r-gorg g.Bog o o ko gof , m g r o of g . 0, g⁴ mm o o o r o⁴ g

$$-1+-1$$
, (A.1)

4

$$= + \sum_{\alpha=\pm 1}^{\lambda_{\alpha}} \frac{\lambda_{\alpha} \lambda_{\alpha}}{(\lambda_{\alpha} - \lambda_{\alpha})^{2}}, \qquad (A.2)$$

$$= \sum_{j=1}^{r} + \sum_{j=1}^{r} \frac{\lambda_{j} \lambda_{j}}{(\lambda_{j} - \lambda_{j})^{2}}.$$
 (A.3)

rimr4 rm tot 4 tr - gorrmom totr.Tkg

$$= + \frac{\lambda_1 \lambda_{-1}}{(\lambda_1 - \lambda_{-1})^2}, \quad \sum_{k=1}^{2} \frac{\lambda_1 \lambda_{-k}}{(\lambda_1 - \lambda_{-1})^2}, \quad (A.4)$$

$$= \frac{\lambda_1 \lambda_{1,1}}{(\lambda_1 - \lambda_{1,1})^2}, \quad \sum_{i=1}^{2} \frac{\lambda_1 \lambda_i}{(\lambda_1 - \lambda_1)^2}.$$
 (A.5)

'nm

 $g^{A_{V}}$, 0, $({}^{A_{V}}4^{A_{V}}$, ${}^{A_{V}}$, M_{A} in o 2.2 40 rg 4, 4 o, ${}^{A_{V}}r$, + $(1/_{\prime}))$, ${}^{A_{V}}$ in o 4 m

$$\frac{\lambda_{1}\lambda_{1}}{(\lambda_{1}-\lambda_{1-1})^{2}} = \frac{\lambda_{1}^{2}}{(\lambda_{1}-\lambda_{1-1})^{2}}.$$
(A.9)

o ror o o i i mm o , i i m ro m r g i m g , 4r $\rho(\lambda)$ of orm m r4 40 g m r of g r or r4 ,40 r i 4 of -, mm r440 r 4 m r4 , i g g r λ_j for $1, \ldots, \gamma_j$. for i m r

$$\rho_{\lambda}(\lambda) + \lambda^{-1} \sum_{\lambda} \delta(\lambda_{\lambda}), \qquad (A.10)$$

$$\int_{\prime}^{\prime} \rho_{\lambda}(\lambda) (\lambda) \lambda = \int_{\prime}^{\prime} \rho(\lambda) (\lambda) \lambda \qquad (A.11)$$

$$\lambda_{\lambda}(\lambda) + \frac{\lambda_{\lambda}\lambda}{(\lambda_{\lambda}-\lambda)^2}$$
 (A.12)

• ro $m + r \rho_{\lambda}(\lambda) g$ (A.10),

$$\frac{1}{\lambda} \sum_{i=\pm 1}^{2} \frac{\lambda_{i} \lambda_{i}}{(\lambda_{i} - \lambda_{i})^{2}} + \int_{\alpha}^{\lambda_{i-1}} \rho_{i}(\lambda)_{\lambda_{i}}(\lambda) \lambda, \qquad (A.13)$$

$$\frac{1}{2}\sum_{\substack{\lambda=1,\dots,2\lambda}}$$

o ' $(\lambda_1 - 15) = 0$ of $(\lambda_1 - 15) = 0$ of

$$\int_{\alpha}^{\lambda_{-\varepsilon}} \int_{\alpha}^{\lambda_{-\varepsilon}} (\lambda) \rho(\lambda) \lambda + \lambda_{-\varepsilon} \frac{(\lambda_{-\varepsilon}) \rho(\lambda_{-\varepsilon})}{\varepsilon} \lambda_{-\varepsilon} \int_{\alpha}^{\lambda_{-\varepsilon}} \frac{\rho(\lambda)}{\lambda_{-\varepsilon}} \frac{\lambda \rho(\lambda)}{\lambda_{-\varepsilon}} \lambda.$$
 (A.16)

 $r m \sim r g \sim of (A.16) \sim \varepsilon 0 m o 4 m$

$$\lambda \frac{(\lambda \varepsilon)\rho(\lambda \varepsilon)}{\varepsilon} - \frac{\lambda^2 \rho(\lambda)}{\varepsilon}.$$
 (A.17)

 1×40 m o $1 \times r = 0$ of (A.16) o

$$\left| \lambda_{-} \int_{\alpha}^{\lambda_{-} \varepsilon} \frac{\left[\rho(\lambda), \lambda\rho(\lambda) \right]}{\lambda_{-} \lambda} \right| \leq \lambda_{-} \left[\begin{array}{c} \cdot \\ \lambda_{-} (\alpha, \lambda_{-} \varepsilon) \right] \rho(\lambda), \lambda\rho(\lambda) \end{array} \right] \int_{\alpha}^{\lambda_{-} \varepsilon} \frac{1}{\lambda_{-} \lambda} \lambda + \lambda_{-} \left[\begin{array}{c} \cdot \\ \lambda_{-} (\alpha, \lambda_{-} \varepsilon) \right] \rho(\lambda), \lambda\rho(\lambda) \end{array} \right] \left(\frac{\lambda_{-} \alpha}{\varepsilon} \right).$$
 (A.18)

fo o 4 40 rm r g^{4} 0 of (A.16) 4 g $((1/\varepsilon))$ 0m 4 m ε 0 4 r rm, 4 4 $(1/\varepsilon)$. 40m (A.17) (A.18) 0 o 4 ε 0 m 0 4 m

$$\int_{\alpha}^{\lambda} \frac{\varepsilon}{\lambda} (\lambda) \rho(\lambda) \lambda = \frac{\lambda^2 \rho(\lambda)}{\varepsilon}.$$
 (A.19)

$$\int_{\alpha}^{\lambda_{-1}} \mathbf{I}_{\lambda_{-}}(\lambda) \rho_{\lambda}(\lambda) \lambda + \int_{\alpha}^{\lambda_{-}} \mathbf{I}_{\lambda_{-}}(\lambda) \rho(\lambda) \lambda_{\lambda_{-}} \int_{\alpha}^{\lambda_{-}} \mathbf{I}_{\lambda_{-}}(\lambda) \left[\rho_{\lambda}(\lambda) - \rho(\lambda) \right] \lambda$$

r mm r , 40m (A.21), (A.22) (A.17



Too m for r r o of , (.), ff r (B.6) r 4 0.00

$$(L) + \frac{\partial}{\partial r} \int_{r}^{r} \int_{r}^{r$$

C. Derivation of main result 3

$$-\frac{\lambda^2}{(-)^2}, \quad \frac{\lambda^2}{(-)^2}.$$
 (1.1)

4,

$$\int_{\lambda}^{0} (-1) + \frac{\lambda}{\sqrt{-2}}, \qquad (1.2)$$

$$\frac{\partial}{\partial_{\tau}} \left((x_{1}, y_{1}) \right) + \frac{\lambda(y_{1})^{3}}{2 \left[(y_{1}, y_{1})^{2} - \lambda^{2} \right]^{3/2}} + \frac{1}{2\lambda^{2}} \left[(x_{1}, y_{1}) \right]^{3}.$$
 (1.4)

 g^{A} , g^{A} , g

$$= (z_{-}) + \int_{1}^{\prime} \frac{3^{7} [v \rho(\lambda)]^{5}}{32\pi^{3}} (v - (z_{-})^{3}) = \frac{[3 \rho(\lambda)]^{2}}{4\pi} [(-)^{2} (v -)^{2} (v -)^{2} (v -)^{3}] \left(\frac{(z_{-})^{3}}{2\lambda^{2}} \right) (v - (z_{-})^{3}) = \frac{3^{7} [v \rho(\lambda)]^{5}}{32\pi^{3}} \frac{1}{2\lambda^{2}} \int_{1}^{\prime} \frac{1}{\lambda^{2}/z} \left(\left((v - (z_{-})^{5} (v -)^{2} (v -)^{4} \right) - \frac{[3 \rho(\lambda)]^{2}}{4\pi} [(-)^{2} (v -)^{2} (v -)^{2} (v -)^{3}] \right) (v - (z_{-})^{3}) = \frac{1}{2\lambda^{2}} \int_{1}^{\prime} \frac{1}{\lambda^{2}/z} \left(\left((v - (z_{-})^{5} (v -)^{2} (v -)^{4} \right) - \frac{[3 \rho(\lambda)]^{2}}{4\pi} [(-)^{2} (v -)^{2} (v -)^{3}] \right) (v - (z_{-})^{3}) = \frac{1}{2\lambda^{2}} \int_{1}^{\prime} \frac{1}{\lambda^{2}/z} \left(\left((v - (z_{-})^{5} (v -)^{2} (v -)^{4} \right) - \frac{[3 \rho(\lambda)]^{2}}{4\pi} [(-)^{2} (v -)^{2} (v -)^{3}] \right) (v - (z_{-})^{3}) = \frac{1}{2\lambda^{2}} \int_{1}^{\prime} \frac{1}{\lambda^{2}/z} \left(\left((v -)^{5} (v -)^{2} (v -)^{4} \right) - \frac{[3 \rho(\lambda)]^{2}}{4\pi} [(-)^{2} (v -)^{2} (v -)^{3}] \right) (v - (z_{-})^{3}) = \frac{1}{2\lambda^{2}} \int_{1}^{\prime} \frac{1}{\lambda^{2}/z} \left(\left((v -)^{5} (v -)^{2} (v -)^{4} \right) - \frac{[3 \rho(\lambda)]^{2}}{4\pi} \left[(-)^{2} (v -)^{2} (v -)^{3} \right] \right) (v - (z_{-})^{3}) = \frac{1}{2\lambda^{2}} \int_{1}^{\prime} \frac{1}{\lambda^{2}/z} \left(\left((v -)^{5} (v -)^{2} (v -)^{4} \right) - \frac{[3 \rho(\lambda)]^{2}}{4\pi} \left[(-)^{2} (v -)^{2} (v -)^{3} \right] \right) (v - (z_{-})^{3}) = \frac{1}{2\lambda^{2}} \int_{1}^{\prime} \frac{1}{\lambda^{2}/z} \left((v -)^{5} (v -)^{2} (v -)^{4} \right) = \frac{1}{2\lambda^{2}} \int_{1}^{\prime} \frac{1}{\lambda^{2}/z} \left((v -)^{2} (v -)^{2} (v -)^{4} \right) = \frac{1}{2\lambda^{2}} \int_{1}^{\prime} \frac{1}{\lambda^{2}} \left((v -)^{2} (v -)^{4} \right) = \frac{1}{2\lambda^{2}} \int_{1}^{\prime} \frac{1}{\lambda^{2}} \left((v -)^{2} (v -)^{4} (v -)^{4} \right) = \frac{1}{2\lambda^{2}} \int_{1}^{\prime} \frac{1}{\lambda^{2}} \left((v -)^{4} ($$

t a g of r $+(x)^2$, λ^2 r form **b** o

$$(.) + \frac{3^7 [\rho(\lambda)]^5}{32\pi^3} \frac{\lambda^2}{4}, \quad 7/2 (.), \qquad (^{1}.5)$$

310

Y .

o for
$$r = (0, 1/2)$$
, $(0, 1/2)$
for $r = (0, 1/2)$
for $r = (1, \lambda^2)^{5/2} (1/2, \lambda)$, $(1, \lambda^2)^{5/2} (1/2, \lambda)$.
 $(1, \frac{\lambda^2}{2})$
for $r = (1, \frac{\lambda^2}{2})$
for $r = (1,$

$$\varphi(\cdot) + \frac{[3, \rho(\lambda)]^2}{4\pi} (\cdot, \lambda^2) \left[1, (\lambda^2/\cdot), (\lambda^2/\cdot)^{1/2} \right]$$

$$\geq \frac{[3, \rho(\lambda)]^2}{4\pi} \cdot (\cdot, \lambda^2) \left[1, (\lambda^2/\cdot), (\lambda^2/\cdot)^{1/2} \right]$$

$$(\square)$$

4 g of **r** $+ \frac{[3, \rho(\lambda)]^2}{4\pi} = 0 \text{ o}$

$${}_{3}(.) \leq 8 \left(\frac{[3, \rho(\lambda)]^{2}}{4\pi} \right)^{3/2} \int_{\frac{[3, \rho(\lambda)]^{2}}{4\pi} 2(.)/2}^{\prime} \frac{1/2}{2(.)/2} \qquad (\square \mathbb{R})$$

for
$$(1, 2)$$
. $(1, 2)$. $(1, 2)$. $(1, 2)$. $(1, 2)$. $(1, 2)$. $(1, 2)$. $(1, 2)$. $(1, 2)$. $(1, 2)$. $(1, 2)$. $(1, 2)$. $(1, 2)$. $(1, 2)$. $(1, 2)$.

Δ. r Δ.

(.)
$$\int_{1^{(-)}}^{2^{(-)}} \left(1, \frac{\lambda^2}{2}\right)^{5/2} \left(\frac{1/2}{2}, \lambda\right)$$
 . (-21)

$$(-) \quad \frac{2^4 \pi^{3/2}}{3^4 [\nu \rho(\lambda)]^3} \, {}^{3/2}. \tag{-22}$$

 $\phi(\lambda^2)/2 = 0 - \phi(\lambda^2)/2 = 0$ in o 4 or $\phi(\lambda^2)/2 = 0$

40m (-2) (-4) (-4) 00 $rg - 4 g (-) + (\frac{3/2}{\sqrt{3}})$.